A70=WFvyIRJ/IPIa—
W ¢ FaRERRM

SBS s

BXFR WERE
SBS06

—L%v\y IHA X EFzwT, "RAFERN
ZYA=IVFry I TN 3—%FKT,
RAFoH= TR

BV7 L a—iA% RMERAE

VI hYa—BIx BHF vy B
BRMES ERAFRYS
SBS03 SC-3F
SBS04 SC-4F
SBS05 SC-5F
SBS06 JNOBT.JNOBRAS
SBS07 JNO7T.JNO7RAS5.JNOBRAB.JTO7
SBS09 JNOST.JNOSRAB.JTOS
SBS10 JNTOT.UNTORAB(8)
SBS12 JN12T.UN12RAB(8)

W TEE ShEE

SBS03.SBS04.SBS05
; \ o
),
_,7,7,7,*3(7+:L
FryIRE
s FEEmE s2
o)
&
[s2]
%) ]
0|
‘ 3| @
[ %) © [ |
1 b | ]
LI TR S 57

SBS06.SBS07.SBS09.SBS10.SBS12

S-11 1—
L

@

F|S-12 :*:UJ

BT |!

~

S-4 S-4 %] S-6
Wi MRRT PSS e el

B P oy SRl | Sl | Em | T

SBS03 3 35 | 11 |29 25 6.55 47 57 | 1 120° | 15 7

SBS04 4 42 | 14 | 345 35 6.55 6.2 72 | 15 [120° | 18 7

SBS05 5 50 | 16 |40 4 8.2 7.7 72 | 15 [120° | 20 7
SBS06 6 75| 26 |38 19.05*%! 12.6859% 7.94 9% | 3 35 | 41 |34 14 85 | M8 x20
SBS07 7 88 | 28 |41 22225 | 12.68755% 794 °9% | 3 35 | 48 |40 17 |11 M10x20
SBS09 9 100 | 32 |48 26.99%°" 19.03%89%% | 127 "3 | 3 35 | 55 |45 19 |13 M12x25
SBS10 | 10 110 | 35 |52 26.99*%" 1903768 | 127 8* | 3 35 | 60 |50 19 |13 M12x25
SBS12 | 12 125 | 40 |54 31.75*%! 1903785 | 127 8* | 3 35 | 675|575 | 19 |13 M12X25






